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FOLLOW Set

FOLLOW(V) = {W | W, X,y e Z* AV = XA S = xwy}

Right-Recursive CFG:

Expr @ — X Factor Term’

Te |  + Factor Term’

—  + Term Expr’ | @
-( Term Expr’ Factor — ( Expr )

® | num

Facto | name

Expr Expr’ Term’ Factor

FIRST (, name, num +, -,€¢ (,name,num X, <+,e (,name, num

Expr Expr’ Term Term’ Factor

FOLLOW eof, ) eof, ) eof,+,-,@ “lulia PR eof,@,x,+@




FOLLOW Set: Alqorithm

FOLLOW(V) = {W | W, X,y e T* AV = X A S = xwy)

ALGORITHM: GetFollow
INPUT: CFG G=(V, X, R, S)
OUTPUT: Forrow:V — P(T u{eof})

PROCEDURE :

for AcV: Forrow(A) := @

Forrow(S) := {eof}

plastFollow :=( g

while (/astFollow + FoLLow) :

A— b1 B2 - | Br=1|Bk

-—
FoLrLow(/(; OLLOW ,)utrall
-y i eeFIRs'r(ﬁ,) -

then trailer : raJ.lerU(FIRs'r(B,) €)

else trailer := First(5) When i = k
else
trailer := FIRsT(f5;) When i = k _ 1
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Right-Recursive CFG:

Goal Expr
10 Expr Term Expr’
Expr + Term Expr’ 8 | €

- Term Expr’

ALGORITHM: GetFollow
INPUT: CFG G=(V, X, R, S)
OUTPUT: FoLLowW:V — ]P’(Tu {eof})

PROCEDURE :

or A : FOLLOW
FOLLOW = {eof
lastFollQw .= o £olt
while YastFoll Low)k
lastFollow := FonLow #
for A = (2’1 ﬂz k € R
trailer := FOLLow(A)

fo ; 13
OLLOW(S3;) := Forrow(B3;)Utrailer
if 6€F®,
th trailer f= tr
lse trail®r := F1

ielse’

trailer :

aileru (FIrsT(Sj) —¢€)

rsT(f)
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Backtrack-Free Grammar

FIRST(() if ¢ ¢ FIRST(3)
FIRST(3) u FOLLOW(A) otherwise

FIRST (A— 3) = {

FIRST(3) is the extended version where 5 may be 5162 .. (n

A=y |v2]...|vn satisfying:
Vi,j:1<i,j<nni#jeFIRST (v;) nFIRST (v;) =@




